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Homework Questions?
1.1#27 r =20, s = 8. Find theta

S= r@

8= 109 —

«_ 2 =90
20

GET ROLLING ON THE WEBASSIGN. EITHER WIPE IT OUT OR ASK QUESTIONS.
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Sines, Cosines, and Tangents of Special Angles
/ f
sin 3ﬂ°=sing= % cos 3ﬂ°=cmg= 5 tan 30°=[ang= \'fT?’
fa'_ =
sin 45° = sin§= % cos 45° = cm%: JTZ tan 45° = tan%= 1
oY
3 1
sin 60° = sin % = 5 cos 60° = cosg = 5 tan 60° = tan % = /3
y
Degenerate
0° rght-tnangle
Also (1.0}
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1.+ 0/3 points LarTrig10 1.3.075. [3881624]

The Johnstown Inclined Plane in Pennsylvania is one of the longest and steepest hoists in the world. The railway cars travel a distance of 896.5
feet at an angle of approximately 35.4°, rising to a height of 1693.5 feet above sea level. (Round your answers to two decimal places.)

896.5 ft s \
of Y 4-|ﬂ4£k
. 1693.5 feet Abon
| sea
| z Fro
B354 I 7 Do
Not.
14
i s
(a) Find the vertical rise of the inclined plane. ‘,‘.J .
% y ad
X 519.33] ft — = ¢os (35“ 5 ne
LAY o 1 aLCqM
. : - GsYe @/ W -
(b) Find the elevation of the lower end of the inclined plane. X - 6%': ¢os 120 \ L|4 ’;
b4 1174.17| ft A_f +D
S«
(c) The cars move up the mountain at a rate of 300 feet per minute. Find the rate at which they rise vertically. I"“J'\w‘ -
b 4 173.78| ft/min
laad | Readit |

¥ 22, 730.76206887064886204639794909646460621747975884605262873502
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/

. (354
A = ¢ (3s4°) —2 Y= oS =™

Lo on
b % 519,326 8\ 1933 £

/L) Sbtrad ¢ 1L43.S — 514,33

1693.5-519.3255710052115750527894225695647880091393959746468592374

3
o 1174.17442899478842494721057743043521199086060402535314076257

/

39 F C+ Don't round before the final step.
Q\ ‘ Don't use rounded numbers in calculations.

Keep the digits in your calculator as far as I can take them.

THEN round.
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896.5c0s(35. 4*n,180)
.............................. 739,7620687.

896.5c0s(35.4)
730,7620689

2

Make sure 70«—'/1: " e

/l’J‘L'I' wode . DeeRges oR RaniaNS
NORMAL FLOAT AUTO REAL DEGREE HMP
andios mde 10 e
896.5co0s(35.4%n/180) o Lo
.............................. 730. 7620689 Je w T
896.5co0s(35.4) e S o
730.7620689

4 bt

_\l = s.—ég‘fo‘)
300
0 “:_(35"?°)

y=3°
J Loh-\‘f)vho-':"

s tw e ¥ic _g/h;“.

£ e ety T

... 1s the vertical component of the
velocity, in feet per minute.

Can't read my writing very well.
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Section 1.4, we generalize this to any angle, pot angles between 0 and 90 degrees.
. L A.e Y . rn—?'p‘
53».(!35_‘,) = s = T ke 2 adieal! y
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+ 0/ points LarTrig10 1.3.068 MI_ [3881448]

In traveling across flat land, you see a mountain directly in front of you. Its angle of elevation (to the peak) is 3.5°. After you drive 15 miles
closer to the mountain, the angle of elevation is 9° (see figure). Approximate the height of the mountain. (Round your answer to one decimal

place.) ’
1.3
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15 mi
Not drawn to scale

ESolution or Explanation
£,

L—e“' L= ht. 2
(& wides)

h='?
.S 4 °)
\; \g,.,:lcs-vié._ v —>|
Nt § .’.“

Lo (3'3_07___ -x%; AND {-~(4°)=
h=h
b (35°) (x45) ’\L‘ -
_‘.L,.(?So)
— o (x m b x ,.,.)Lumt 3 6

So a (x¢5) = b¥ Solve Q"“'

IR

ax-by =-52
= -Sa
< (a-b }
¢) UL SN w2 Y JusSh 187

X% 3T (& (S - o G

Ly Fon (5°)

-5t4n(3.5)/(tan(3.5)-tan( uud (5 RS
.............................. 3:145219187. _
Ans*tan(9) o_c “18.
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